
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	

	
	
	
	
	
	
	
	

𝑦 = 2$%	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 

Logarithmic function has 
an x-intercept at (1,0). 

	

	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
𝑦 = 𝑙𝑜𝑔.*(𝑥 + 2)	

	
	
	
	
	
	
	
	

𝑦 =. 5% − 2	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 

Exponential function has 
a y-intercept at (0,-1)  

	

	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	

𝑦 = 1 −
𝑙𝑛𝑥
𝑙𝑛5	

	
	
	
	
	
	
	
	

𝑦 = 5(3$%)	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 
	

	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
𝑦 = 𝑙𝑜𝑔4 𝑥 − 2 − 𝑙𝑜𝑔4(2)	

	
	
	
	
	
	
	
	

𝑦 = 2(%53) + 2	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 

Logarithmic function has 
an x-intercept at (4,0)  

	

	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
𝑦 = 𝑙𝑜𝑔.* 𝑥 	

	
	
	
	
	
	
	
	

𝑦 =. 5(4%)	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 

Exponential function has 
a y-intercept at (0,1)  

	

	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
𝑦 = 𝑙𝑜𝑔.4 𝑥 − 3	

	
	
	
	
	
	
	
	

𝑦 =. 2(4%) + 3	
	
	
	
	
	
	
	
	
	
	
	

 
 
 
 

 
 
	

	
	


